Snake Pit X by Joseph Howard

Rules: Divide the grid along the boundary

lines so that every cell belongs to a snake.

A snake is a one-cell-wide path at least two O @ 3 5 5

cells long that does not touch itself, not even  }-===- R ST SESEr DETEE] I L R EEia
diagonally. Circled cells must be at one of the 3 '3

ends of a snake. A snake may contain one ~ }----- N it B S

circled cell, two circled cells, or no circled @ @ 4 @

cells at all. Numbered cells must be partofa }----- AR SRR C ] I Ehhi '

snake with a length of exactly that number of 4 6! 4
cells. A snake may contain one number, -

multiple identical numbers, or no numbers at ' ' ' ' 6

all. Two snakes of the same length cannot
touch each other horizontally or vertically.
Cells with an X cannot be an end of a snake.
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